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2

All qucestions are
compulsory.

Hustrate  your answerg
with  labelled diagrama
wherever necessary.

Marks allotted to cachp
question are mentioneq

against it.
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1. Choose the correct option and write in
your answer-book :
A) In an angiospermic plant stamens
are
i} female reproductive organ
ii) male reproductive organ
iiij both (i) and (ii)
iv)] none of these. 1
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B) Who is the founder of law of

dominance and law of segregation ?

1)  Darwin 1) Lamarck

i1} de Vries iv] Mendel. 1
C)  Genetic engineering starts with the
discovery of which enzyme ?

i) Restriction endonuclease

i) DNA ligase

iij) DNA gyrase

iv) DNA polvmerase. 1

D) Which one of the following is the

regular necessity of an ecosystem ?

i)  Water

i)  Wind

i) Energy

w}  None of these. 1
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Draw a labelled diagram of a

germinating pollen grain. Va + Vo
What is menstruation cycle ? 1
Why a colourblind man is not

selected as a driver in railways ? 1

Write down the differences between

homology and analogy. 1

Why are leaves of opuntia modified

into thorns ? 1
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3. A) Write a note on greenhouse effect. 2

B) What do you
antibiotic ? Write down the names

1+1

understand by

wodaurjuopreogdn mmmy/:dny

of any two antibjotics.

C) Differentiate between linkage and

crossing-over. 1+1

D) What is DNA fingerprint ? Describe

its application. 1+1

E) What is oxidation pond ? Describe
its importance. 1+1
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Describe the commensalism and
mutualism ' 1Yo+ 1%

What is vaccine ? Write the name

and usefulness of any two vaccines.

; + 1+ 1
http://www.upboardonline.com 1+ 1

What do Yyou understand by

zers ? Give its source and

biofertili
1+1+1

usefulness.

What are drugs 2 Name the sourcc

from which smack and charas are

. 1+ 1+ 1
obtained.
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A} What is immunity ? Explain the

mechanism of acquired immunity.

1 +2

wooautjuopteogdn mmm/dny

B) What is cross-pollination ? Describe

its merits and demerits. 1+1+1]

C) Describe the importance of micro-

organisms in industrial production
with examples. 1%+ 1Y%

D) Describe the uses of bio-tcchnology

in agriculture.

3
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6. ) aififjﬁaf'\!?ﬁf HUEI] FI AMiHa faa J377 | 7 Draw the diagram of 00genesis In hz_.lman
and compare it with spermatogenesis.
3 34
Cam . . 2
@) SHICE HS TN § ? Tg v Yo F14 OR
€7 172+ 1% Describe the process of fertilization in
M) Y] U & Hecd | el i@ | 3 angiosperms with the help of suitable
diagram. S

o) G121 ¥ 39 I gEIE & 2 9 s & . o
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w By l 1
JSTELT T TIEZ BT | 1% + 1% - = o Y & N o
6. A) Draw a labelled diagram of an ovule = =
. = = 1+
of an angiospermic plant. 3 = = 4
+ Z Z Foar
B) What is genetic code ? How does it E £ .
work ? 1V + 1% Z 2 m-maﬂmnmwaﬂaﬁ%?ﬁa
C) Write a note on the importance of g‘ é‘“: X-HEeTT TR & g1 IgE0 qaARy a1 feot
animal breeding. - 3 =¥ 5 U & =S0Md i W@ied & R § e
D) What do you mean by Bt ? Explain it g g HitTg | L4249
with example of Bt-cotton. 172+ 1% 8.  What _dO you understand by sex
. mEE § SRR & A @ wheE g determination ? Explain it with the hel
T T : . e of diagram in man, p
SIS0 T IEFIVEA O 81 ol S | 1+4
S OR
3+2
What do you unde
a7edr - : - rstand by criss-cross
o , .~ ' mherﬂ:ance ? . Write two examples of
el g § e T @ wre aoH Zi‘;:-;f’_swt? . X-linked  characters ang
L ‘Plain inheritance of a .
g | S | help of diagram. Ty one ;"’:‘th? th;
+
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1+2+2
Draw the diagram of a pond ecosystem

and describe the biotic and abiotic

factors of it. 243

OR
What is acid rain ? Describe the role of
industrial byproduct from used fuel in
causing atmospheric pollution and

Suggest some suitable measures for its
control. 1+2+2
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